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Prototype Cul;Mogs

AFLOW prototype label ABTC3_0P88_61_c¢_Tc_3c-001
ICSD 404377

Pearson symbol oP88

Space group number 61

Space group symbol Pbca

AFLOW prototype command aflow --proto=AB7C3_oP88_61_c_7c_3c-001
—~params=a, b/a’? C/a7 x1,Y1,%1,%2,Y2,22,T3,Y3,23,T4,Y4,24,T5,Y5,25,T6, Y6, 26, L7,
Y7, 27,28,Y8, 28,219,Y9, 29, L10, Y10, 210, 11, Y11, Z11

Simple Orthorhombic primitive vectors
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a; = ax
as = bY
ag = cz
Basis vectors
Lattice Cartesian Wyckoff Atom
coordinates coordinates position type
B, = r1a; +yias + 21 a3 = ax1 X+ by ¥+ cz1 (8c) Cul
B, = —(xl—%)al—ylag—i— = —a(xl—%)fc—byly—i-c(zl—i—%)i (8c) Cul
(214 3) as
By = —xlal—&—(yl—k%) as — = —axl)‘c+b(y1+%)$f—c(z1—%) Z (8¢) Cul
(21— 3) as
By = (:UlJr%) alf(ylf%) ap—z1a3 = a(x1+%))‘cfb(y17%)yfczli (8¢) Cul
B; = —r1a; — Yy as — 21 a3 = —ar X —byy—cz z (8¢) Cul
Bg = (a:1—|—%) al+y182—(2’1—%) ag = a(xl—&—%)f(—l—byly—c(zl—%) Z (8¢) Cul
B, = mlal—(yl—%) a2—|—(z1+%) az = aa:l)‘(—b(yl—%)y—kc(zl—ké)i (8¢) Cul
Bs = —-(m-Ya+pm+i)a+ = —a(z1— ) X+b(y1+3) §+cn 2 (8c) Cul
21 a3
By = Toay + Yo as + 29 a3 = ars X +bys ¥ +c202 (8c) 11
By = —(1‘2—%) a; —Ygag + == —a(:cz—%)fc—bygy+c(z2+%)i (8¢) II
(224 3) a3
Bi:1 = —$231+(y2+%) as — = —ax2i+b(y2+%)y—c(22—%) Z (8c) I
(22— 3) as
B = (372—‘1-%) al—(y —%) as—z29ag = a(ﬂcg—&—%)fi—b(y —%)9—0222 (8c) 11
Biz = —Tga; — yoas — 29 a3 = —aro X —bys y —c20 2 (8¢) 11
Bis (:v2+%) a1+y2a27(2275) az = a(x2+%) )‘(erygyfc(z'gf%) Z (8¢) 11
By = acgal—(y —%) 82-’-(22-‘1-%) az = a:rzi—b(y —%)y—i—c(zQ—i—%)i (8c) I1
Big = —(z2—3)ar+(y2+3)a+ = —a(wy—3) X+b(y2+3) §+cxi (8c) 11
29 a3
By = T3a) + ysas + 23 as = ax3X +bysy + cz3 z (8¢) I1I
Bis = — (23— 1) a1 —ysax + = —a(z3—3) X —bysy+c(+3) 2 (8c) I1I
(23 +3) as
By = —xsa; + (yg—i—%) as — = —angi—l—b(yg—i—%) y—c(z;;— %) Z (8c) 111
(23— 3) as
B = (z3+3)ai—(ys—3) az—z3a3 = a(zs+3)%x—bys—3) §—ca32 (8¢) I1I
By, = —x3a; —ysas — 23 as = —ax3X —bysy —cz32 (8¢) I1I
B = (z3+3) aitysar—(z3—3) a3 = a(zs+3) X+bysy—c(zs—1) 2 (8¢) I1I
Bas = wza;—(y3— 1) ax+(z+3) a3 = arsk—b(ys—3) §+c(zs+3)2 (8c) III
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B85 = —Ti11a; — Y11 Ay — Z11 A3 = —aril )A( — byll 5’ — CZ11 2 (8C) MO III

B86 = (xll + %) ap + Y11 a2 — = a (1[,’11 =+ %) )A( + byll y — C (211 — %) 2 (SC) MO III
(11— 3) as
Bgr = T11a; — <y11 — %) as + = ari1X—>b (y11 — %) y+c (Z11 + %) Z (8c) Mo II1
(211 +3) as
Bss = — (11— %) ai+ (ynn+3) as+ = —a(zn—5) X+b(yu+3) y+canz (8¢c) Mo III
21143
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